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problem achieved points possible points

PCT and all that b 10
Wick’s theorem S 5
total W 5 15

1 PCT and all that

1.1 Table

Here we have to compute 4 - 6 = 24 transformation properties. We get whopping four points for this
problem. So this means that we have to write about four pages to get everything done. The ratio \,\, i
seems rather bad here as we only finish on page 7 with the very first problem. M

Often we have to use that the symmetric part (in idempotent form) of «y ® «y is related to the metric
tensor:

o =91,

In particular this means that
[P = 1,

Why is the quantity %[T“, 7] now called o"”. We had defined this earlier to be the commutator of
the Pauli matrices. The commutator of the Dirac matrices was called S#”. Either way, we will use the
notation from this problem set.

Parity Since there are six tensorial quantities, we will just number them for each transformation
operator.







































